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A 2(V12x VT) + (V28 x V3) & e

@1 @2 ® 3

4x12%x7
(F43) =y 28 % 3 2




2. a=6-V5b=14+2V54 0, & F 22 709

®a+b<0 @ a-b>0 @a—4<0

@ b-4<0 ® 2a+b>15

B

Da+b=6-V5+1+2V5=7+ V5>0
@Qa-b=6-V5-1-2V5=5-3V5<0
@b-4=1+4+2V5-4=2vV5-3>0
®2a+b=12-2V5+1+2V5=13




3. ohgF da WA 8L A
D 4-+v2<2 @ 2- VT <V3-WT
@)-vis >4 @ ~V3- VIl <-VI0-3

® V2+1>V3+1

B

D4-V2-2=2-V2=+V4-+2>0
L 4=1V2>2
@2—\/7—(\/_—\/7)=2—\/§:\/Z—\/§>0

L2—-VT> V3T
@ —VI5 - (-4) > 0

@ -V3- V10— (-VI0-3) =-VB+3=-vV3+ V9>0

L= V3-+410>-+v10-3
® V2+1-(V3+1)=v2-V3<0

V2 4+1< V341
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@ V15 = 3 T} 4 Aol A7,
@)-v2 =4 B ol AT
® A 9 B Afolols Bak AHo] ge47t EAfetet.

@) V2. V3. VA, V5. V6. V7. V8 5 73 C ofl Sat
B 7 Aol
® 2V3 ol b33t AL D olek.
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A= x of st

f(x) = (Vxolste] A F 7P 2 47) 2l & o, £(90) - £(40)
o #27 (& x = Adoltt)

@ 1 @ 2 @3 @ 4 ® 5

B

81 <90 < 100 °]EZ 9 < 90 < 10

- f(90) =9
36 < 40 < 49 ©]E2 6 < V40 < 49
- f(40) = 6

- f(90) - f(40) =9 -6 =3




@ 1270 @ 1370 @ 147) @157]1

® 167

B

1< Vx<4

12< (V) <42 0o|B=

1<x<16
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